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1=2
h® = a® + b°
h2 = 62 + 22
he=36+4
h? = 40
Jh*=/40
h = 6.3 units



Calculate Distance
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d= \/(Xz —X1)% + (Y2 —y1)?

A S [ 1
Calculate the distance between (-2, 1) and (4,3).

d=./4-(-2))" + 3-1)°
d=./4+2)" + Q)
d=./(6)"+4
d=./36+4

d=./40

d = 6.3 units




Calculate the distance

between (-g,' 1) and (I’g, -’5')

d= \/(Xz —X1)% + (y2 —y1)°

d= /(13-(-9)" + (-5-4)
d= /22" + (-9

d= \/ﬁ + 81
d= ./565
d= 23.8 units




Find the distance between (ﬁ,l g)
and (6, %

letx,=2,x,=6,y,=3 andy, =8.
d="V(x, = XP + (Y, — ¥

d=V(6—-2?2+ (8- 3P

d: '\.-'#E_I_EE
d=V16 + 25
d = V41 or 6.4 units
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Midpoint Formula

Calculating the midpoint
between two points.

(xz +Xq1 Y2 + )’1)
2 ’ 2




Calculate the midpgigt
between (7, 3) & (-2, 5)

(xz T X1 Y2 t J’1)
2 ’ 2

('2_+7 9 'u)

2 2
(3,:2)

2 2
(2.5, -1)
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Find the midpoint of (5, 1% and (—1, 5).
Let x;, =5,x,= —1,y;, —1,and y, = 5.

X+ X% VitV ) .
( 5 5 ) Midpoint Formula
(5 +2_1, 1 ? 5) Substitute.

4 6
5 3) Add.

(2, 3) is the midpoint
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